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Example

1. Find the rule,which gives the number of

matchsticks required to make the following

matchstick patterns.Use a variable to write the

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zdiV2q7xhcQR


rule.

A matchstick pattern of letter T and t

Watch Video Solution

2. Find the rule,which gives the number of

matchsticks required to make the following

matchstick patterns.Use a variable to write the

rule.

A matchstick pattern of letter Z as z

Watch Video Solution

https://dl.doubtnut.com/l/_zdiV2q7xhcQR
https://dl.doubtnut.com/l/_qooGDfP06gct
https://dl.doubtnut.com/l/_dhgDwLE6y8Mj


3. Find the rule,which gives the number of

matchsticks required to make the following

metchstick patterns.Use a variable to write the

rule.

A matchstick pattern of letter U as u

Watch Video Solution

4. Find the rule,which gives the number of

matchsticks required to make the following

metchstick patterns.Use a variable to write the

https://dl.doubtnut.com/l/_dhgDwLE6y8Mj
https://dl.doubtnut.com/l/_ygEAEQ1J27W8


rule.

A matchstick pattern of letter V as v

Watch Video Solution

5. Find the rule,which gives the number of

matchsticks required to make the following

metchstick patterns.Use a variable to write the

rule.

A matchstick pattern of letter E as E

Watch Video Solution

https://dl.doubtnut.com/l/_ygEAEQ1J27W8
https://dl.doubtnut.com/l/_w4oWa22lHGsV
https://dl.doubtnut.com/l/_LvIEAIGBTpaF


6. Find the rule,which gives the number of

matchsticks required to make the following

metchstick patterns.Use a variable to write the

rule.

A matchstick pattern of letter S as s

Watch Video Solution

7. Find the rule,which gives the number of

matchsticks required to make the following

metchstick patterns.Use a variable to write the

https://dl.doubtnut.com/l/_LvIEAIGBTpaF
https://dl.doubtnut.com/l/_08Ko6NdxZytA


rule.

A matchstick pattern of letter A as A

Watch Video Solution

8. We already know the rule for the pattern of

letters L,C and F.Some of the ltters fom Q.1

(given above) give us the same rule as that

given by L.Which are these ?Why does this

happen?

Watch Video Solution

https://dl.doubtnut.com/l/_08Ko6NdxZytA
https://dl.doubtnut.com/l/_UTV1q6hJhsqK
https://dl.doubtnut.com/l/_MjvdZcpn7gJi


9. Cadets are marching in a parade.There are 5

cadets in a row.What is the rule,which gives

the number of cadets,given the number of

rows?(Use n for the number of rows.)

Watch Video Solution

10. If there are 50 mangoes in a box,how will

you write the total number of mangoes in

terms of the number of boxes ?(Use b for the

number of bxes.)

Watch Video Solution

https://dl.doubtnut.com/l/_MjvdZcpn7gJi
https://dl.doubtnut.com/l/_Q6eRxcBY2mFZ


11. the teacher distributes 5 pencils per

student.Can you tell how many pencils are

neede,given the number of students?(Uses for

the number of students.)

Watch Video Solution

12. A bird flies 1 kilometre in one minute.Can

you express the distance covered by the bird

https://dl.doubtnut.com/l/_Q6eRxcBY2mFZ
https://dl.doubtnut.com/l/_R3RmRCUpA12n
https://dl.doubtnut.com/l/_6WNwy4uyUNHr


in terms of its flying time in minutes?(Use t for

flying time in minutes)

Watch Video Solution

13. Radha is drawing a dot Rangoli(a beautiful

pattern of lines joining dots with chalk powder

as in Fig.) She has 8 dots in a row.How many

dots will her Rangoli have for r rows ?How

many dots are there if there are 8 rows?If

there ae 10 rows?

.

https://dl.doubtnut.com/l/_6WNwy4uyUNHr
https://dl.doubtnut.com/l/_OCgrms7OCTPa


Watch Video Solution

14. Leela is Radha's youger sister.Leela is 4

years younger than Radha.Can you write

Leela's age in terms of Radha's age ?Take

Radha 's age to be x years.

Watch Video Solution

15. Mother has made laddus.She gives some

laddus to guests and family members, still 5

https://dl.doubtnut.com/l/_OCgrms7OCTPa
https://dl.doubtnut.com/l/_6YLNJW3ADhTV
https://dl.doubtnut.com/l/_uEOjWRKZQEf1


laddus remain .If the number of laddus mother

gave away is l, how many laddus did she make?

Watch Video Solution

16. Oranges are to be transferred from larger

boxes into smaller boxes. When a large box is

emptied, the oranges from it fill two smaller

boxes and still,  oranges remain outside. If

the number of oranges in a small box is taken

to be , what is the number of oranges in the

larger box?

10

x

https://dl.doubtnut.com/l/_uEOjWRKZQEf1
https://dl.doubtnut.com/l/_O2l0VgKSrz4D


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

10 − 2x

2x + 10

2x − 10

x + 10

2

17. Look at the following matchstick pattern of

squares. The squares are not separate. Two

neighboring squares have a common

https://dl.doubtnut.com/l/_O2l0VgKSrz4D
https://dl.doubtnut.com/l/_vX2UL5FnVQqS


matchstick. Observe the patterns and find the

rule that gives the number of matchsticks in

terms of the number of squares. (Hint: If you

remove the vertical stick at the end, you will

get a pattern of Cs.)

.

Watch Video Solution

https://dl.doubtnut.com/l/_vX2UL5FnVQqS


18. Figs. Below gives a matchstick pattern of

triangles. As in Exercise 11 (a) above find the

general rule that gives the number of

matchsticks in terms of the number of

triangles.

.

Watch Video Solution

https://dl.doubtnut.com/l/_1kOugMAti1AJ


19. The side of an equilateral triangle is shown

by l. Express the perimeter of the equilateral

triangle using l.

Watch Video Solution

20. Solve the following equation

Watch Video Solution

7x − 9 = 3

https://dl.doubtnut.com/l/_W9jyYsdxZc3r
https://dl.doubtnut.com/l/_PENQf0DiEy36


21. A cube is a three-dimensional figure. It has

six faces and all of them are identical squares.

The length of an edge of the cube is given by l.

Find the formula for the total length of the

edges of a cube.

.

Watch Video Solution

22. The diameter of a circle is a line, which

joins two points on the circle and also passes

https://dl.doubtnut.com/l/_ZoteAGPLUPnN
https://dl.doubtnut.com/l/_M4Vt8j9Iobrk


through the center of the circle. (In the

adjoining figure AB is a diameter of the circle,

C is its center). Express the diameter of the

circle (d) in terms of its radius (r).

.

Watch Video Solution

23. To find the sum of three numbers 14, 27

and 13. We can have two ways.

We may add 27 and 13 to get 40 and then add

14 to get the sum 54. Thus

https://dl.doubtnut.com/l/_M4Vt8j9Iobrk
https://dl.doubtnut.com/l/_NujMdEi0GtSw


This can be done for any three numbers. This

property is known as the associativity of the

addition of numbers. Express this property

which we have already studied in the chapter

on Whole Numbers, in a general way, by using

variables a,b and c.

Watch Video Solution

24. To find the sum of three numbers 14, 27

and 13. We can have two ways.

We may add 27 and 13 to get 40 and then add

https://dl.doubtnut.com/l/_NujMdEi0GtSw
https://dl.doubtnut.com/l/_L1i9dNV6XYpR


14 to get the sum 54. Thus

This can be done for any three numbers. This

property is known as the associativity of the

addition of numbers. Express this property

which we have already studied in the chapter

on Whole Numbers, in a general way, by using

variables a,b and c.

Watch Video Solution

25. Make up as many expressions with

numbers (no variables) as you from three

https://dl.doubtnut.com/l/_L1i9dNV6XYpR
https://dl.doubtnut.com/l/_GujnHKqgzPt1


numbers 5, 7 and 8. Every number should be

used not more than once. Use only addition,

subtraction and multiplication.

Watch Video Solution

26. Which out of the following are expressions

with numbers only?

y+3

Watch Video Solution

https://dl.doubtnut.com/l/_GujnHKqgzPt1
https://dl.doubtnut.com/l/_5kXywb8EYpd2


27. Which out of the following are expressions

with numbers only?

.

Watch Video Solution

7 × 20 − 8z

28. Which out of the following are expressions

with numbers only?

Watch Video Solution

5(21 − 7) + 7 × 2

https://dl.doubtnut.com/l/_ptlqdADZb7Gn
https://dl.doubtnut.com/l/_QYDv7vmBpFKE
https://dl.doubtnut.com/l/_k0DUQKKjoW11


29. Which out of the following are expressions

with numbers only?

Watch Video Solution

5

30. Which out of the following are expressions

with numbers only?

Watch Video Solution

3x

https://dl.doubtnut.com/l/_k0DUQKKjoW11
https://dl.doubtnut.com/l/_Czl9dmBypL3K
https://dl.doubtnut.com/l/_bVfqFL0QpTiq


31. Which out of the following are expressions

with numbers only?

v

Watch Video Solution

5 − 5n

32. Which out of the following are expressions

with numbers only?

.

Watch Video Solution

7 × 20 − 5 × 10 − 45 + p

https://dl.doubtnut.com/l/_bVfqFL0QpTiq
https://dl.doubtnut.com/l/_OqBwXC9Qt0hI


33. Identify the operations

(addition,subtractin,division,multiplication)in

forming the following expressions and tell

how the expressions have been formed:

Watch Video Solution

z + 1, z − 1, y + 17, y − 17

34. Identify the operations

(addition,subtractin,division,multiplication)in

forming the following expressions and tell

https://dl.doubtnut.com/l/_h6j0w8eJyCnp
https://dl.doubtnut.com/l/_58cCi0t2k5Ba


how the expressions have been formed:

Watch Video Solution

17y, , 2y − 17
y

17

35. Identify the operations

(addition,subtractin,division,multiplication)in

forming the following expressions and tell

how the expressions have been formed:

Watch Video Solution

7m, − 7m + 3, − 7m − 3

https://dl.doubtnut.com/l/_58cCi0t2k5Ba
https://dl.doubtnut.com/l/_TTjPvEtL7k9Q
https://dl.doubtnut.com/l/_5Hn7VSvRIYrS


36. Give expressins in the following cases:

7 added to p.

Watch Video Solution

37. Give expressins in the following cases:

7 subtracted from p

Watch Video Solution

https://dl.doubtnut.com/l/_5Hn7VSvRIYrS
https://dl.doubtnut.com/l/_G8YalIYbl2fH


38. Give expressins in the following cases:

p multiplied by 7

Watch Video Solution

39. Give expressins in the following cases:

p divided by 7

Watch Video Solution

https://dl.doubtnut.com/l/_35pAqfrNJJSV
https://dl.doubtnut.com/l/_fpgQuhMGfY7p


40. Give expressins in the following cases:

7 subtracted from -m

Watch Video Solution

41. Give expressins in the following cases:

-p multipied by 5

Watch Video Solution

https://dl.doubtnut.com/l/_WWzgf6k8T9aH
https://dl.doubtnut.com/l/_wUkyAh5vwD5M


42. Give expressins in the following cases:

.

Watch Video Solution

−p ÷ dby5

43. Give expressins in the following cases:

p multiplied by -5.

Watch Video Solution

https://dl.doubtnut.com/l/_QXJxMjnFlV5Y
https://dl.doubtnut.com/l/_BZBWxuFaxvSq


44. Give expressions in the following cases:

11 added to 2m

Watch Video Solution

45. Give expressions in the following cases:

11 subtracted from 2m

Watch Video Solution

https://dl.doubtnut.com/l/_1xp6lra5CjrT
https://dl.doubtnut.com/l/_ozYkE1Syl1tB


46. Give expressions in the following cases:

5 times y to which 3 is added

Watch Video Solution

47. Give expressions in the following cases:

5 times y from which 3 is subtracted.

Watch Video Solution

https://dl.doubtnut.com/l/_wnMfmSARxB6o
https://dl.doubtnut.com/l/_EJXvK6sygGmo


48. Give expressions in the following cases:

y is multiplied by -8

Watch Video Solution

49. Give expressions in the following cases:

y is multiplied by -8 and then 5 is added to the

result.

Watch Video Solution

https://dl.doubtnut.com/l/_oarF80XIqrKn
https://dl.doubtnut.com/l/_XgbQmF1tWZrp


50. Give expressions in the following cases:

y is multiplied by 5 and the result is

subtracted from 16.

Watch Video Solution

51. Give expressions in the following cases:

y is multiplied by -5 and the result is added to

16.

Watch Video Solution

https://dl.doubtnut.com/l/_KWniVrCrU8bo
https://dl.doubtnut.com/l/_Qz5evFGJlph8
https://dl.doubtnut.com/l/_7Pp4KBCZXKf7


52. Form expressions using t and 4.Use not

more than one number operation.Every

expression must have t in it.

Watch Video Solution

53. Form expressions using y, 2 and 7.Every

expression must have y in it.Use only two

number operations.These should be different.

Watch Video Solution

https://dl.doubtnut.com/l/_7Pp4KBCZXKf7
https://dl.doubtnut.com/l/_UXAD5N96iC9w
https://dl.doubtnut.com/l/_x9aynL29BL4k


54. Answer the following

Take Sarita's present age to be y years.

What will be her age 5 years from now?

Watch Video Solution

55. Answer the following

Take Sarita's present age to be y years.

What was her age 3 years back?

Watch Video Solution

https://dl.doubtnut.com/l/_x9aynL29BL4k
https://dl.doubtnut.com/l/_kYYrAWDiLfIj


56. Answer the following

Take Sarita's present age to be y years.

Sarita's grandfrather's age is 6 times her

age.What is grandfather's age?

Watch Video Solution

57. Answer the following

Take Sarita's present age to be y years.

Sarita's grandfrather's age is 6 times her

age.What is grandfather's age?

https://dl.doubtnut.com/l/_0B5lly8zVn3U
https://dl.doubtnut.com/l/_FmKa1Ppox9ap


Watch Video Solution

58. Answer the following

Take Sarita's present age to be y years.

Sarita's father's age is 5 years more thabn 3

times Sarit's age.What is her father's age?

Watch Video Solution

59. Answer the following

The length of a rectangular hall is 4 metres

https://dl.doubtnut.com/l/_FmKa1Ppox9ap
https://dl.doubtnut.com/l/_ZD0LZo5Au8QP
https://dl.doubtnut.com/l/_XXSMEXTg3iee


less than 3 times the breadth of the hall.What

is the length ,if the breadth is b metres?

Watch Video Solution

60. Answer the following

A rectangular box has height h cm.Its length is

5 times the height and breadth is 10 cm less

than the length.Express the length and the

breadth of the box in trems of the heigth.

Watch Video Solution

https://dl.doubtnut.com/l/_XXSMEXTg3iee
https://dl.doubtnut.com/l/_oT20egXnO0pp
https://dl.doubtnut.com/l/_FLhVgojP3Mrx


61. Answer the following

Meena, Beena, and Leena are climbing the

steps to the hilltop. Meena is at step s, Beena

is 8 steps ahead and Leena 7 steps behind.

Where are Beena and Meena? The total

number of steps to the hilltop is 10 less than 4

times what Meena has reached. Express the

total number of steps using s.

Watch Video Solution

https://dl.doubtnut.com/l/_FLhVgojP3Mrx


62. Answer the following

A bus travels at v km per hour. It is going from

Daspur to Beespur. After the bus has traveled

for 5 hours. Beespur is still 20 km away. What

id the distance from Daspur to Beespur?

Express it using v.

Watch Video Solution

63. Change the following statements using

expressions into statements in ordinary

https://dl.doubtnut.com/l/_CmHC8EtrUjwh
https://dl.doubtnut.com/l/_5lJR3s8qM19e


language.(For example, given Salim scores r

runs in a cricket match, Nalin scores (r+15)

runs. In ordinary language – Nalin scores 15

runs more than Salim).

A notebook costs `p. The book costs 3p.

Watch Video Solution

64. Change the following statements using

expressions into statements in ordinary

language.(For example, given Salim scores r

runs in a cricket match, Nalin scores (r+15)

https://dl.doubtnut.com/l/_5lJR3s8qM19e
https://dl.doubtnut.com/l/_EJEeU6Lss5Nu


runs. In ordinary language – Nalin scores 15

runs more than Salim).

Tony puts q marbles on the table.He has 8q

marbles in his box.

Watch Video Solution

65. Change the following statements using

expressions into statements in ordinary

language.(For example, given Salim scores r

runs in a cricket match, Nalin scores (r+15)

runs. In ordinary language – Nalin scores 15

https://dl.doubtnut.com/l/_EJEeU6Lss5Nu
https://dl.doubtnut.com/l/_zmyAGdVyOktF


runs more than Salim).

Our class has n students.The school has 20 n

students.

Watch Video Solution

66. Change the following statements using

expressions into statements in ordinary

language.(For example, given Salim scores r

runs in a cricket match, Nalin scores (r+15)

runs. In ordinary language – Nalin scores 15

runs more than Salim).

https://dl.doubtnut.com/l/_zmyAGdVyOktF
https://dl.doubtnut.com/l/_9ZZLSOnPjBvw


Jaggu is z years old.His uncle is 4z years old

and his aunt is (4z-3) years old.

Watch Video Solution

67. Change the following statements using

expressions into statements in ordinary

language.(For example, given Salim scores r

runs in a cricket match, Nalin scores (r+15)

runs. In ordinary language – Nalin scores 15

runs more than Salim).

https://dl.doubtnut.com/l/_9ZZLSOnPjBvw
https://dl.doubtnut.com/l/_4Bsn1V5AkHYx


In an arrangement fo dots there are r

rows.Each row contains 5 dots.

Watch Video Solution

68. Given,Munnu's age to be x years,can you

guess what (x-2) may show?

Watch Video Solution

69. Given Sara’s age today to be y years. Think

of her age in the future or in the past. What

https://dl.doubtnut.com/l/_4Bsn1V5AkHYx
https://dl.doubtnut.com/l/_TRWFoTk4Beyo
https://dl.doubtnut.com/l/_TBgyG8nNp6h3


will the following expression indicate?

Watch Video Solution

y + 7, y– 3, y + 4 , y − 2
1

2

1

2

70. Given ,n students in the class like

football,what may 2n show?What may n/2

show?

Watch Video Solution

https://dl.doubtnut.com/l/_TBgyG8nNp6h3
https://dl.doubtnut.com/l/_PSqUb3aIGZQn


71. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

equations with a variable.

Watch Video Solution

17 = x + 7

72. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

https://dl.doubtnut.com/l/_7KDXRmMnaiZl
https://dl.doubtnut.com/l/_RnqYGVXGQtQl


equations with a variable.

Watch Video Solution

(t − 7) > 5

73. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

equations with a variable.

Watch Video Solution

= 2
4

2

https://dl.doubtnut.com/l/_RnqYGVXGQtQl
https://dl.doubtnut.com/l/_shD3Djlskh4H
https://dl.doubtnut.com/l/_fnYiKUYvaQ0T


74. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

equations with a variable.

Watch Video Solution

7 × 3 − 19 = 8

75. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

https://dl.doubtnut.com/l/_fnYiKUYvaQ0T
https://dl.doubtnut.com/l/_RXEunnx4pkGJ


equations with a variable.

Watch Video Solution

5 × 4 − 8 = 2x

76. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

equations with a variable.

Watch Video Solution

x − 2 = 0

https://dl.doubtnut.com/l/_RXEunnx4pkGJ
https://dl.doubtnut.com/l/_iKKKQCZ37wP8
https://dl.doubtnut.com/l/_DohABBstMSfn


77. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

equations with a variable.

Watch Video Solution

xm < 30

78. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

https://dl.doubtnut.com/l/_DohABBstMSfn
https://dl.doubtnut.com/l/_Wae0XzJBQcBF


equations with a variable.

Watch Video Solution

2n + 1 = 11

79. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

equations with a variable.

Watch Video Solution

7 = 11 × 5 − 12 × 4

https://dl.doubtnut.com/l/_Wae0XzJBQcBF
https://dl.doubtnut.com/l/_IozQTSrLM0Jp
https://dl.doubtnut.com/l/_2qUWECUp8PI1


80. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

equations with a variable.

Watch Video Solution

7 = 11 × 2 + p

81. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

https://dl.doubtnut.com/l/_2qUWECUp8PI1
https://dl.doubtnut.com/l/_2PooGBflpQtN


equations with a variable.

Watch Video Solution

20 = 5y

82. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

equations with a variable.

Watch Video Solution

< 5
3q

2

https://dl.doubtnut.com/l/_2PooGBflpQtN
https://dl.doubtnut.com/l/_s6zsHCUduLoB
https://dl.doubtnut.com/l/_yJoOc7sgCcjE


83. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

equations with a variable.

Watch Video Solution

z + 12 > 24

84. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

https://dl.doubtnut.com/l/_yJoOc7sgCcjE
https://dl.doubtnut.com/l/_cfpuxzjPowxC


equations with a variable.

Watch Video Solution

20 − (10 − 5) = 3 × 5

85. State which of the following are

equations(with a variable).Give reason for your

answer.Identify the variable from the

equations with a variable.

Watch Video Solution

7 − x = 5

https://dl.doubtnut.com/l/_cfpuxzjPowxC
https://dl.doubtnut.com/l/_RAodJUvKn9T8
https://dl.doubtnut.com/l/_Vap2IjT6zdiJ


86. Complete the entries in the third colun of

the table.

.

Watch Video Solution

87. Pick out the solution from the given values

given in the bracket next to each question

.Show that the other values do not satisfy the

equation..

Watch Video Solution

5m = 60

https://dl.doubtnut.com/l/_Vap2IjT6zdiJ
https://dl.doubtnut.com/l/_gFnTnWLlY2OZ


88. Pick out the solution from the given values

given in the bracket next to each question

.Show that the other values do not satisfy the

equation.

Watch Video Solution

n + 12 = 20

89. Pick out the solution from the given values

given in the bracket next to each question

https://dl.doubtnut.com/l/_gFnTnWLlY2OZ
https://dl.doubtnut.com/l/_HGhI9W5o4oXd
https://dl.doubtnut.com/l/_Tt4MxfVw43hz


.Show that the other values do not satisfy the

equation..

Watch Video Solution

p − 5 = 5

90. Pick out the solution from the given values

given in the bracket next to each question

.Show that the other values do not satisfy the

equation.

Watch Video Solution

= 7
q

2

https://dl.doubtnut.com/l/_Tt4MxfVw43hz
https://dl.doubtnut.com/l/_AsKOyMMLppMa


91. Show that the other values do not satisfy

the equation.

 (4,4,8,0)

Watch Video Solution

r − 4 = 0

92. Pick out the solution from the given values

given in the bracket next to each question

.Show that the other values do not satisfy the

equation..

x + 4 = 2

https://dl.doubtnut.com/l/_AsKOyMMLppMa
https://dl.doubtnut.com/l/_FdeEavPa9lZo
https://dl.doubtnut.com/l/_xIhZLQjgW8rD


Watch Video Solution

93. Complete the table and by inspection of

the table find the solution to the equation

m+10 = 16.

.

Watch Video Solution

94. Complete the table and by inspection of

the table find the solution to the equation

https://dl.doubtnut.com/l/_xIhZLQjgW8rD
https://dl.doubtnut.com/l/_Nf4td7l5v7UB
https://dl.doubtnut.com/l/_x7FQXUtaXMqt


m+10 = 16.

.

Watch Video Solution

95. Complete the table and by inspection of

the table find the solution to the equation

m+10 = 17.

.

Watch Video Solution

https://dl.doubtnut.com/l/_x7FQXUtaXMqt
https://dl.doubtnut.com/l/_jqg5nsE8dAsa


96. Complete the table and find the solution to

the equation m-7 = 3

.

Watch Video Solution

97. Solve the following riddles,you may

yourself construct such riddles.

Who am I?

Go around a square 

Counting every corner

https://dl.doubtnut.com/l/_adWLWs2i94XD
https://dl.doubtnut.com/l/_09bH5FLFVFsE


Thrice and no more!

Add the count to me 

To get exactly thirty four!.

Watch Video Solution

98. Solve the following riddles,you may

yourself construct such riddles.

Who am I?

For each day of the week 

Make an upcount from me

https://dl.doubtnut.com/l/_09bH5FLFVFsE
https://dl.doubtnut.com/l/_PwDdm8TfuzdR


If you make no mistake

You will get twenty three!.

Watch Video Solution

99. Solve the following riddles,you may

yourself construct such riddles.

Who am I?

I am a special number 

Take away from me a six!

A whole cricket team 

You will still be able to fix!.

https://dl.doubtnut.com/l/_PwDdm8TfuzdR
https://dl.doubtnut.com/l/_TwFM9h3yqmXY


Exercise

Watch Video Solution

100. Solve the following riddles,you may

yourself construct such riddles.

Who am I?

Tell me who I am I shall give a pertty clue!

You will get me backIf you take me out of

twenty two!?

Watch Video Solution

https://dl.doubtnut.com/l/_TwFM9h3yqmXY
https://dl.doubtnut.com/l/_d9C9LVSHA6pt


1. Meera has some chocolates.She gave some

chocolates to her brother and still she has 7

chocolates with her.If the number of

chocolates she gave away is x how many

chocolates did she have?

Watch Video Solution

2. My brother's age is  years more than twice

my age. If my age is  years, what is my

brother's age?

3

x

https://dl.doubtnut.com/l/_bebAqACgD55m
https://dl.doubtnut.com/l/_NArI12Bp1yur


Watch Video Solution

3. 5 students stand in a row.Write the rule for

the number of students for a given number of

rows.(Use n for the number of rows.)

Watch Video Solution

4. The side of a square is a .Express the

perimeter of the squareusing 'a'.

Watch Video Solution

https://dl.doubtnut.com/l/_NArI12Bp1yur
https://dl.doubtnut.com/l/_bBBJY9DxoZ1I
https://dl.doubtnut.com/l/_3BgVcL94KrlS


5. We know that 3+5 = 5+3.This Property is

called commutative property of

addition.Express this property of addition.

Express this property in a general way using

the vaiables a and b.

Watch Video Solution

6. Write the following using numbers.literal

numbers and arithmetic operations:

The sum of number 3 and x.

https://dl.doubtnut.com/l/_XDH5sEh3t24X
https://dl.doubtnut.com/l/_RcMD8FAaMasx


Watch Video Solution

7. Write the following using numbers.literal

numbers and arithmetic operations:

5 more than y.

Watch Video Solution

8. Write the following using numbers.literal

numbers and arithmetic operations:

One fifth of a number y.

Watch Video Solution

https://dl.doubtnut.com/l/_RcMD8FAaMasx
https://dl.doubtnut.com/l/_Qp4u62xvvez6
https://dl.doubtnut.com/l/_2jBL5mnzGkiE


9. Write the following using numbers.literal

numbers and arithmetic operations:

One third of a number x and y

Watch Video Solution

10. Write the following using numbers.literal

numbers and arithmetic operations:

6 times a number x.

Watch Video Solution

https://dl.doubtnut.com/l/_2jBL5mnzGkiE
https://dl.doubtnut.com/l/_SpEH0V0dCALn
https://dl.doubtnut.com/l/_XK5eAmbxfmSr


11. Write a number 3 more than y.

Watch Video Solution

12. Write a number wh ich is 6 less than x.

Watch Video Solution

13. If 5 is added to x, it becomes z.Write z in

terms of x.

https://dl.doubtnut.com/l/_XK5eAmbxfmSr
https://dl.doubtnut.com/l/_LhZlkQ6anafL
https://dl.doubtnut.com/l/_pLPzXhahmnAF
https://dl.doubtnut.com/l/_sVACe5iU6BDz


Watch Video Solution

14. If 3 is subtracted to x,it becomes z,Write z

in terms of x.

Watch Video Solution

15. Write the following using numbers,literal

numbers and signs of basic operations.

The diameter of a circle is twice its radius.

Watch Video Solution

https://dl.doubtnut.com/l/_sVACe5iU6BDz
https://dl.doubtnut.com/l/_byAjIl78LIrU
https://dl.doubtnut.com/l/_xd75mHc4BO5z


16. Write the following using numbers,literal

numbers and signs of basic oprations.

The area of a rectangle is the product of its

length and breadth.

Watch Video Solution

17. Change the following statements using

expressins into statements in ordinary

language:

https://dl.doubtnut.com/l/_WtTlktJNe3AU
https://dl.doubtnut.com/l/_LqMLKTrEFqHW


Ram has 5 copies in his bag.He has 25 copies

at home.

Watch Video Solution

18. Change the following statements using

expressions into statements in ordinary

language:

Kanika is x years old.Her sister is (x-4) years

old.Her mother is 9x years old.

Watch Video Solution

https://dl.doubtnut.com/l/_LqMLKTrEFqHW
https://dl.doubtnut.com/l/_tRIeITIX8qYY
https://dl.doubtnut.com/l/_c2QMqVJM5jGa


19. The height of a rectangular box is h cm.Its

length is 3 cm more than twice the height and

its breadth is 1 cm less than the height.Express

length and breadth in terms of height.

Watch Video Solution

20. What is algebraic expression for

subtractiing 7 from -m?

A. m-7

B. m + 7

https://dl.doubtnut.com/l/_c2QMqVJM5jGa
https://dl.doubtnut.com/l/_qeiUFt74O9Fg


C. 

D. .

Answer:

Watch Video Solution

7 − m

−m − 7

21. What is algebbraic expression for

subtracting 7 from p?

A. 

B. 

p − 7

p + 7

https://dl.doubtnut.com/l/_qeiUFt74O9Fg
https://dl.doubtnut.com/l/_l8TJ1duMItxz


C. 

D. .

Answer:

Watch Video Solution

7 − p

7 × p

22. What is algebraic expression for

multiplying p by 16?

A. 

B. 

16p

p + 6

https://dl.doubtnut.com/l/_l8TJ1duMItxz
https://dl.doubtnut.com/l/_xh6dNVZbIijY


C. 

D. .

Answer:

Watch Video Solution

p − 16

p

16

23. What is algebraic expression for first

multiplying x by 3 and then adding 2 to the

product?

A. x + 6

https://dl.doubtnut.com/l/_xh6dNVZbIijY
https://dl.doubtnut.com/l/_nQJiaNK6zzOq


B. 

C. 

D. .

Answer:

Watch Video Solution

3x + 2

3x − 2

6x

24. What is algebraic expression for first

multiplying  by  and then subtracting  from

the product?

y 2 5

https://dl.doubtnut.com/l/_nQJiaNK6zzOq
https://dl.doubtnut.com/l/_QKeUjQniwdy7


A. 

B. 

C. 

D. .

Answer: C

Watch Video Solution

2y + 5

y + 10

2y − 5

10y

25. What is algebraic expression for first

multiplying y by 10 and then adding 7 to the

product?

https://dl.doubtnut.com/l/_QKeUjQniwdy7
https://dl.doubtnut.com/l/_pwJcy08lbFgZ


A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

10y + 7

y7 + y

10y − 7

70y

26. What is algebbraic expression for fiirst

multiplying N by 2 and then subtracting L

from the product?

https://dl.doubtnut.com/l/_pwJcy08lbFgZ
https://dl.doubtnut.com/l/_mVMxfMi38j6x


A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

n + 2l

2n + l

2n − l

n − 2l

27. Out of the following expressions,which is

the expression of only numbers?

https://dl.doubtnut.com/l/_mVMxfMi38j6x
https://dl.doubtnut.com/l/_kvmq596vSgBl


A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

y + 3

7 × 20 − 82

5 − 5n

5(21 − 7) + 7 × 2

https://dl.doubtnut.com/l/_kvmq596vSgBl

